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Mutanue 12 ner n crapue

Miope kapTodensHoe 190 1,58 4,32 22,8 82,54 TTK 807
MomMnaop Ceexuit gonskamm 16 0,16 0,03 0.77 3,81 TTK 676/1
Yaii ¢ NUMOHOM 200 0,23 0,39 7,09 27,8 TTK 614

Xneb CTONUYHBIA W3 PKaHO-NLLIEHUYHOR MYKK
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Manouku poibHble 114 7,61 89 TTK 1377
Miope kapTodensHoe 185 1,54 80,37 TTK 907
Yail c NUMOHOM 200 0,23 27,8 T_'_FK 614
Xneb CTONUYHLIA U3 PXKAHO-NLLIEHWYHOK MYKU 25 1,67 54 TTK 609
Xneb NWeHWYHLIA U3 MyKU B/C 25 1,72 58 TTK 608

Momwvaop CeEXWK A0NbKamMu
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NerotHoe nutanue ( 12 net u crapuue) £l
OrypLib! KOHCEPBUPOBaHHbIE 0,24 3,34 6,72 TTK 1232
BuTouek "HexHbli" 5,95 8,45 573 166,54 TTK1397
Mepnoeka oTBapHas C Macnom 45 8.3 39,8 177 TTK 1419
Yaii 3eneHbii ¢ caxapom 9,08 24,51 __'I:I'_I( 613
MNederse "Kexcuim WwWokonagHoie" 1.1 5,83 13,32 101,15 TTK1399
Xneb nlweHn4HbIR U3 MyKW BIC 1,72 0,25 12,01 58 TTK 608
Xneb CTONMYHLINA U3 DXAHO-MLLEHUYHOM MyKU 1,67 0,25 11,03 54 TTK 609
74 ; . _ .\x « : el - - _ = : A X ; o v 92 Ill %ﬁ%;
Pacconsnuk NernHrpagckui Nd 1,32 6,21 AT 92 46 TTK 638/1
3enero 1 0,03 0,09 0,44 TTK 671
loBAOWHA oTBapHas anA | bniog 25 7.53 5,29 Tl.12 TTK631/2
Yepabuyuum MAcHbIe 100 11,52 13,59 1,41 181,83 TTK 550/1
Kanycra TyweHas 180 7.4 e 3914 22237 TTK 903
Hanwutok hpykToBsIi BuTamMuHka 200 0,43 0,09 8,85 37,15 TTK 629
Xneb CTONUYHbIN M3 PKAHO-NLUEHUIHON MyKV 25 1,67 0,25 11,03 54 TTK 609
Aneb NeHWHbIR 13 Myku B/c 25 1,72 0,25 12.01 58 " TTK608
denokoll & 120 0,48 0.01 1386 | 2783 | TTK669 |
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